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1.
KX-G7100

7100
KX-G7100/N,KX-7101/N
KX-G7100/N,KX-7101/N

2.

7100 RS232C
2.1.
( )
X
<CTRL>+KXORB)
DT K
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"Now transferring. Do you want to abort the current communication? <y/n>"

DT <CTRL> Q

<CTRL> KXORB
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DTE
X DT
X CR
DTE
X KX-G7100/7101
2.2.7100
KX "CR/LF" ( 0dOah) (DTE)
2.3.
5.
3. KX
KX 7100
KX
3.1. (KXSxx, KXMxx, KXUTC )
RS232C DTE
3.2. (KXAXX)
KXB KXB
3.3. (KXBxx)
KXA
KXA
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3.4. (KX1B,KX0B,KXCB)
3.5. (KXPxx, KXDxx)
1/0
3.6. (KXCHK,KXST,CTRL+GET )
ROM
4, KX
4.1. (
II$II
180
<CR> <CR> <LF>

<CR> 0Dh, <LF> 0Ah

< > ACK(KXS06) (KXS05)

"$KXS06=1<CR><LF>KXA05=0,1,2,3<CR><LF>"

4.2. DTE
DTE

AKX M0 MR "B

> DTE

(/\

ctrl
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(

-KXS03)

DTE

AKAXMOMRMB

Serial No_: xxxxx

:://'3"//
KXS03=2<CR><LF>
KXS03=2<CR><LF>
/
\Q’

DTE
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DTE KX (ACK NACK)
<ACK >
DTE "KXA05=0,1,2,3,4<CR><LF>"
DTE
KXA05=0,1,2,3,4<CR><LF>
<NACK >
DTE DTE
ERRO
( ib_queue_size 4096
ERR1
5000
ib_queue_size 5000
)
ERR2




